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Note : The paper consists of three sections A, B, C. Attempt 

the questions as per instructions given in each section. 

SECTION - A 
(Long Answer Questions) 

Attempt any two questions from this section : 
2x20=40 

1. Explain the meaning of Aggregate Capital of a 
country. Describe its main components. How is 
it measured ? 

2. Define Social Sector. List the various services 
provided under this sector. Explain the 
relationship between human development, social 
security and social sector. 

3. What do you understand by economic welfare ? 
Point out the limitations of National Income as a 
measure of welfare. 

4. Define Flow of Funds system of accounts. Why is 
Flow-of-Funds System of accounts considered as 
the most comprehensive accounting system ? 
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SECTION - B 
(Medium Answer Questions) 

Attempt any four questions from this section : 
4x12=48 

5. Explain the concept of environmental accounting. 
How do you measure environment adjusted 
GDP ? 

6. How is government sector treated in the National 
Income Accounting ? What are the issues 
involved in it ? 

7. What is the purpose of classification of economic 
activities ? Explain the classification of 
transactions relating to flow of income. 

8. What special problems do you face in estimating 
contribution of agricultural sector to the national 
income ? Explain. 

9. Explain the concept of Physical Quality of Life 
Index. Evaluate the effectiveness of this index as 
a measure of development. 

10. State the main parts of the National Accounts 
Statistics published by Central Statistical 
Organisation. 

SECTION - C 
(Short Answer Questions) 

11. Explain any three of the following concepts : 
(a) Closed Economy 
(b) Asset 
(c) Subsidy 
(d) Factor Payment 
(e) Depreciation 

3x4=12 
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